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Sample 1: Select the best correction/s for an error (or errors).

Read this paragraph.

(1) With its luscious trees and grassy fields stretching like a green ribbon across Manhattan,
New York City’s Central Park is a natural oasis amid the bustling city. (2) While more

than 25 million people visited the park each year, they are also a temporary home to an
abundance of migratory birds. (3) During the spring and fall migrations, the park becomes a
bird watcher’s paradise, prompting scores of avid birders with binoculars in hand to flock to
it. (4) More than 270 species of birds, including swallows, thrushes, and at least 25 different
species of warblers, have been observed making the park their home in the big city.

How should the( paragraph be revise@'

A. Sentence 1: Change its to their, AND change is to was.
Sentence 2: Change visited to visit, AND change they are to it is.
Sentence 3: Change becomes to became, AND change it to them.

Oo0ow

Sentence 4: Change have been to had been, AND change their to its.
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Sample 2: Identify a sentence with an error.

Read this paragraph.

(1) Madison Square Garden is the oldest sports arena in the New York City area, having
opened in 1968. (2) The construction of the Garden caused controversy when portions of the
iconic Pennsylvania Railroad Station were demolished, leading to the creation of a
commission dedicated to preserving New York City’s historic landmarks. (3) Although the
Garden is home to major sports teams and is a frequent host of major concerts, city officials
are concerned that it stands in the way of expanding and modernizing Pennsylvania Station,
which operates beneath the arena. (4) In 2013, the city council voted to give the owners of
Madison Square Garden a 10-year operating permit, meaning that Madison Square Garden
may need to relocate by 2023.

Which sentence)should be revised to correct an error in{sentence structure )

E. sentence 1 ( AN \
Z' sentence i ( \ ddow JSiw Juaio UasJl Qi >3
. sentence c -
Glaio 4l iy oo lodl Syl
H. sentence 4 i Lo Glisy i)§| cdlosdl 3yas) 05 Olballs GlalSl iy dué
Bysalb e sl b Unsdl 9Ss LlSs3I
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Sample 3: Improve the writing by combining sentences or revising part of a sentence.

Read these sentences.

(1) Whales are the giants of the ocean, and they spend their lives in underwater song.
(2) They use their voices to attract a mate, call out to one another, and help navigate new
environments.

What is the best way to@ombine the sentences)to clarify the relationship between the ideas?

A. Whales are the giants of the océan, spending their lives in underwater song, using their
voices to attract a mate, calling dut to one another, and helping navigate new environments.

B. Whales, the giants of the ocean, spend their lives in underwater song, use their voices to
attract a mate, call out to one another, and help navigate new environments.

C. Whales are the giants of the ocean, sfhend their lives in underwater song, use their voices to
attract a mate, call out to one another,\and help navigate new environments.

D. Whales, the giants of the ocean, spend tReir lives in underwater song, using their voices to
attract a mate, call out to one another, and help navigate new environments.
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Sample 1 Explanation

(B) Sentence 2 of the paragraph should be revised to correct the errors in verb tense and pronoun agreement.
The paragraph is in the present tense, so the past tense “visited” needs to be changed to “visit.” Additionally, the
pronoun “they” needs to be changed to the pronoun “it.” The pronoun refers to “the park,” which is a singular
noun; it does not refer to “people,” which is plural. Option B is correct because the revisions in the option correct
these errors.

Sample 2 Explanation

(E) Sentence 1 of the paragraph should be revised to correct an error in sentence structure. Specifically, the
sentence should be revised to correct a misplaced modifier. As the sentence is written, the phrase “having
opened in 1968" incorrectly modifies “the New York City area” instead of modifying “Madison Square Garden.”
The correct placement of the phrase would change the beginning of sentence 1 to “Madison Square Garden,
having opened in 1968, ..." Option E correctly identifies sentence 1 as having an error in sentence structure.

Sample 3 Explanation

D) Option D shows the best way to combine these sentences clearly and precisely because it shows the)
relationship between the key ideas of whales spending their lives in underwater song and the practical uses of
.their song
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Game Night

(1) Some people think that board games are outdated and boring, unable to provide much
entertainment to today’s electronic-savvy teens. (2) But opening a cardboard box full of
colorful and sometimes elaborate game pieces can offer a refreshing experience, one that
cannot be matched by a video game controller and headset. (3) Playing board games is
really quite fun.

(4) Board games have exploded in popularity in the past several years as people have
discovered how entertaining and interesting a complex or strategic game can be. (5) In the
board game Ticket to Ride, players compete against one another. (6) The goal is to create a
long railway that connects destinations on a map. (7) This requires collecting resources and
building rail lines in strategic places. (8) The game encourages players to think in new ways,
and the brain gets exercise that it needs in order to grow.

(9) Playing board games with others can also help bring people together. (10) When you
take part in a board game, you get to know the other players. (11) People separated by
generations can find common ground across the table from one another when they are all
enjoying the same board game. (12) In addition, playing board games can often encourage
discussion among players about a variety of topics. (13) Some games are even developed as
learning games and aim to teach players about a topic as they play. (14) In a world where
digital interactions tend to occur more frequently than true face-to-face interactions, coming
together in person to enjoy a board game can be a fun way to maintain or create connections
with other people.

(15) In addition to helping people develop relationships, playing board games gives people
an opportunity to hone skills that apply to real life. (16) Competitive board games challenge
people to compete and to use strategies to outwit one another. (17) Cooperative board
games require players to collaborate and to use their individual strengths to achieve a
common goal. (18) The act of playing almost any board game can help a person learn to be
a humble winner and a gracious loser and help improve a person’s focus, self-control, and
critical thinking.

(19) Playing board games is an excellent way to exercise one’s brain, engage with other
people, and practice essential strategies for handling real-life situations. (20) There are
hundreds of competitive and cooperative board games that can provide the ideal balance
between entertainment and challenge.

) Lo glodl pasy (g dawliieg did) dg) Lle O ez Lo WL comll Ogluwdl e daslonall
o 3o dasSh yaill Colwly pSailly sehall clde Cog W Jlgal 13 Jio dliwdl dundly .ddle duapslS]
ookw3l e Ll dbadlal) Juasll Ll yuSall

1. Which revision of sentence 10 %aintains the formal style established in the passagg

A. When you play a board game with people, you become friendly with them.

B. When people participate in a board game, they develop relationships with each other.

C. When people get together for a board game, they learn about each other.

D. When you become involved in a board game with people, you make friends with the players.

11



2. Which sentence should be added after sentence 18 to help develop the ideas in the fourth
paragraph (sentences 15-18)7?

E. Playing board games can teach a person a lot about how to manage the daily obstacles that
are a natural part of life.

F. The skills used to play games can be useful, as almost all occupations require people to make
decisions that can have positive or negative results.

G. People who learn these things will develop strong interpersonal skills, which are an advantage
when developing relationships.

H. Concentrating on a goal, responding well to positive and negative outcomes, and making
logical decisions are valuable skills in many situations.

3. Which concluding sentence would best follow sentence 20 and support the main argument
presented in the passage?

A. People should seek out board games that require players to develop complex strategies to
defeat opponents.

B. People should choose board games that appeal to them and encourage friends and family to
take a seat at the gaming table.

C. People should play board games that involve significant player interaction as they try to
achieve the same or different goals.

D. People should find board games that allow friends and family to reap the benefits of regularly
playing games.

Sample 1 Explanation

(B) Option B is the correct response because this revision uses precise, formal language (“participate” and
“develop relationships”) that maintains the style established in the passage. In addition, this option avoids using
the informal second person (“you”) and instead uses “people” to refer to board-game players, which further
contributes to the formal style.

Sample 2 Explanation

(H) Option H is the correct response because this sentence further develops the ideas that are presented in
sentence 18 (that playing board games can help a person learn to win and lose with grace and can “help improve
a person'’s focus, self-control, and critical thinking”). This sentence develops these ideas by explaining that these
qualities are valuable in situations beyond playing board games.

Sample 3 Explanation

B) Option B is the correct response because it logically follows the description in sentence 20 that there are)
“hundreds of competitive and cooperative board games” with the suggestion that a person should choose one
that they find appealing or interesting. The passage explains the benefits of playing board games, and the
sentence in option B supports the main argument of the passage by emphasizing that playing board games is a
.fun way to bring people together

12
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Snoozing While Soaring

1 Certain types of birds soar for hundreds of miles, over land, over sea—and never stop to rest.
That kind of endurance seems impossible to us, since we as people need time to rest and sleep.
Researchers set out to learn how birds could fly for such long distances without restorative rest.
They found that for some birds, settling in for a good night’s rest is not always a necessity.

2 In 2013 Felix Liechti and his research colleagues at the Swiss Ornithological Institute published
results of a study about the flight habits of Alpine swifts, small birds that migrate annually
between Europe and Africa. Liechti and his team fitted the birds with small electronic tags that
recorded the birds’ acceleration and their pitch, or angle relative to the ground. The data revealed
that the birds remained completely airborne during their time in Africa, a period of over 200 days.
Since all animals require sleep, the researchers inferred that the birds slept from time to time on
their long journey. However, since the electronic tags recorded only movement such as gliding or
flying, and not brain waves, the question of whether birds sleep during flight remained
unanswered.

3 Researcher Niels Rattenborg from the Max Planck Institute for Ornithology also delved into this
question. In a 2006 article Rattenborg explained that it was theoretically possible that birds could
undergo a certain type of sleep while flying. Like mammals, Rattenborg explained, birds
experience different types of sleep, including slow-wave sleep (SWS). Rattenborg argued that
SWS during flight is plausible because SWS can happen in one hemisphere of the brain at a time,
leaving half of the brain essentially awake while the other half sleeps. The eye associated with the
“awake” hemisphere can still function, allowing a bird to see where it is going. Rattenborg decided
that electroencephalogram (EEG) recordings of birds’ brain waves would ultimately be necessary
to determine whether a bird can actually sleep in flight.

4 Eventually, Rattenborg and his team were able to create an experiment to prove this theory by
studying frigatebirds from the Galapagos Islands. These enormous birds are good subjects for
avian-sleep research because they fly far out to sea to hunt fish. However, unlike many seabirds,
they cannot land on the water to rest because the physical build of their body—long wings, poorly
webbed feet, and minimal feather waterproofing—makes them unable to take off again from the
surface of the water. Rattenborg concluded that they must remain in flight for up to two months at
a time.

5 In an article from 2016, Rattenborg outlined the team’s research methods and conclusions. The
team humanely implanted EEGs on the skulls of several frigatebirds. After analyzing the EEG
readings of the birds while in flight, the team determined that the frigatebirds slow-wave slept for
about ten seconds at a time at points when the birds were gliding upward via warm air currents,
typically the safest part of the flight. While in flight the birds slept for only 45 minutes a day,
which is just enough rest for the birds to function during these long flights. They later recovered
from the stress of going with very little sleep when they rested for approximately twelve hours
each day back on land.

6 Using EEG recordings, Niels Rattenborg solved the puzzle of when birds sleep while traveling long
distances. His evidence proved that his theory was correct, and the birds proved themselves to be
the ultimate multitaskers as they manage sleep and flight at the same time.
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1. Read this sentence from paragraph 1.

That kind of endurance seems impossible to us, since we as people need time to
rest and sleep.

The words “endurance” and “impossible” in the sentence convey

A. amazement about the physical capability of birds to remain in flight for extended periods of
time over long distances.

B. uncertainty about the conditions that allow birds to stay in flight for extended periods of time
without rest.

C. excitement about the opportunity to share research into how birds fly for extended periods
of time.

D. skepticism about discovering how birds can fly for extended periods of time with little or no
rest.

2. Which sentence from the passage best supports the idea that birds seem to be capable of
making prolonged flights without sleeping?

E. "“The data revealed that the birds remained completely airborne during their time in Africa, a
period of over 200 days.” (paragraph 2)

F. “In a 2006 article Rattenborg explained that it was theoretically possible that birds could
undergo a certain type of sleep while flying.” (paragraph 3)

G. "“Rattenborg decided that electroencephalogram (EEG) recordings of birds’ brain waves would
ultimately be necessary to determine whether a bird can actually sleep in flight.”
(paragraph 3)

H. "“While in flight the birds slept for only 45 minutes a day, which is just enough rest for the
birds to function during these long flights.” (paragraph 5)
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3. Which statement best summarizes the conclusions of the studies presented in the passage?

A. Scientists used monitoring devices to determine that the seconds when migratory birds glide
upward in warm air currents are safest for slow-wave sleep.

B. Using monitoring devices, scientists confirmed that migratory birds sleep for an extremely
short amount of time while in flight and recuperate by sleeping for an extended period of
time after they land.

C. Scientists used monitoring devices to determine that migratory birds require significantly less
sleep than many other animals and to show that the birds use only one hemisphere of their
brain while flying.

D. Using monitoring devices, scientists confirmed that some types of migratory birds rely on
slow-wave sleep cycles in order to stay in flight for extended periods of time.

4. The overall organizational structure of the passage allows the author to

E. contrast the significance of research findings related to small migratory birds with those
related to large migratory birds.

F. compare the in-flight sleep patterns of the various types of birds examined in several studies.
G. emphasize the role of technology in studying sleep patterns of birds in flight.
H. illustrate how researchers acquired a better understanding of the sleep patterns of birds in

flight.

Sample 1 Explanation

(A) Option A is the correct response because it explains that the words “endurance” and “impossible” convey
amazement at the birds’ ability to remain in flight for so long without resting—as opposed to human beings, who
“need time to rest and sleep” (paragraph 1). Specifically, the word “impossible” implies a sense of wonder or
disbelief at the birds’ endurance, which allows them to continue flying for hundreds of miles without stopping.
The words “endurance” and “impossible” support the idea expressed later in the passage that these birds are the
“ultimate multitaskers” (paragraph 6).

Sample 2 Explanation

(E) Option E best supports the idea that birds seem to be capable of making prolonged flights without sleeping, because
it expresses the idea that the birds “remained completely airborne” during “a period of over 200 days” (paragraph 2).
This information is significantly more precise than the information in the other answer options. Therefore, option E
provides more compelling evidence to support the idea in the question than the other answer options provide.

Sample 3 Explanation

(D) Option D best summarizes the conclusions of the studies presented in the passage. While all the options include
some important details about the study of migratory birds, option D accurately states the key conclusion of these
studies, which is that these birds “rely on slow-wave sleep cycles in order to stay in flight for extended periods of time”
(paragraph 5). Option D's emphasis on the key conclusion rather than on key details makes it the correct response.

Sample 4 Explanation

(H) Option H best explains the effect of the overall structure of the passage. The passage presents an unresolved
question in paragraph 2, while paragraph 3 explains one researcher’s attempt at seeking an answer to the
question. Paragraph 4 describes the bird the researchers chose due to its physical makeup and feeding habits.
Paragraphs 5 and 6 illustrate the details and outcome of the study, revealing the researchers’ conclusion.
Therefore, the overall structure of the passage illustrates how researchers improved their understanding of the
sleep patterns of birds in flight.
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+ x, x+1 =-15

The(sum)of(two consecutive integers)is -15) If 1 is added to the smaller integer and 2 is sub-
tracted from the larger integer, what is the product of the two resulting integers?

il Jlaandl Gle dodle gus
Aol U=

2K J-5

\ \
tarts a game with(twice as many marbles as Keiko)(Jenny gives Keiko 5 marbles) but she
still has 10 more than Keiko. How many marbles did Jenny have to start with?

A. 25
B. 30 Il o SLalSI iy b
C. 35 Aol s90) L
D. 40
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3x

L=3x

The perimeter of a rectangle is 510 centimeters. The ratio of the length to the width is 3:2. What

are the dimensions of this rectangle?

F.
G.
H

150 cm by 105 cm
153 cm by 102 cm
158 cm by 97 cm
165 cm by 90 cm
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Sample 4
1 dollar = 7 lorgs
1 dollar = 0.5 dalt

Malik has 140 lorgs and 16 dalts. If he exchanges the lorgs and dalts for dollars according to the
rates above, how many dollars will he receive?

A. $28 j
B. $52 40 7 Aol Jagois @b 11 Bglasll
C. $182 x 1 g Ll (Iorgs) duslyisdl
D $282 7x=140
x=4$20
Aol Jgonis @b 12 gkl
6 0.5 3y Ll (dalts) duslyiédl
P
0.5x=16
x=4$32
o clidhesd Cawsl 13 dglasll
20+32=452 e

a2 Sl (dalts)g (lorgs)
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Sample 1 Explanation

If x is the smaller consecutive integer, then x +1 is the larger consecutive integer. Use their sum -15
to find x:

X+x+1)=-15
2x+1=-15
2x=-16
X=-8

The two consecutive integers are -8 and 7.

One is added to the smaller integer: -8 + 1 = -7.

Two is subtracted from the larger integer: =7 - 2 = -9.
Find the product: -7 x -9 = 63.
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Sample 2 Explanation
(D) Set up some equations.
Jenny (/) has twice as many marbles as Keiko (K): / = 2K
Jenny gives Keiko 5 marbles, so now they each have: /-5 and K+ 5 marbles.

Jenny still has 10 more than Keiko:
J-5=(K+5)+10

To find how many marbles Jenny had to start with, solve J = 2K for K and substitute that into the
second equation:

In equation J = 2K, solve for K: K = é
Substitute é in for K.
J-5=(K+5)+10

j—5=(é+5)+10

_J
5—2+15

/-
J _
5—20

/=40 marbles

Sample 3 Explanation

(F) Let 2x =the width and 3x = the length.
Draw the rectangle to help visualize.

3x

2x 2x

3x

Since 2w +2/ = P, we get

2x) + 2(3x) =510)2

4x + 6x =510

10x =510

Xx=51

2x=102cm and 3x =152 cm
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Sample 4 Explanation

(B) Use proportions to make the conversions:

Lorgs to dollars:
140_7
X

7x =140
x=%$20
Dalts to dollars:

16 _0.5
X 1

0.5x=16
x=$32
Total dollars = 20 + 32 = $52
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EXAMPLE A EXAMPLE B
(Answer: 5) (Answer: 3.2)

Write the answer
in these boxes. - 5 3

e

Negative
sign

Decimal
point

e

Fill in the circles
that correspond
to the answer
written in the
boxes.
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GRADE 8 A

The New York City Department of Education
2023 Specialized High School Admissions Test

GENERAL DIRECTIONS

Student Name:

Identifying Information
Turn to Side 1 of the answer sheet.

Notify the proctor immediately if you are ill or should not be taking this test. Do not sign the
statement or begin the test. Return your answer sheet to the proctor.

Line 1: Read the statement and sign your name in the space following the word “signature.” Do not print your
name.

Line 2: Print today’s date, using the numbers of the month, the day, and the year. For example, the date
September 21, 2022, would be 9-21-22.

Line 3: Print your birth date, using the numbers of the month, the day, and the year. For example, a birth date
of March 1, 2006, would be 3-1-06.

Grid 4: Print the letters of your first name, or as many as will fit, in the boxes. If you have a middle initial, print
it in the box labeled “MI.” Then print the letters of your last name, or as much as will fit, in the boxes provided.
Below each box, fill in the circle that contains the same letter as the box. If there is a space or a hyphen in your
name, fill in the circle under the appropriate blank or hyphen.

Make dark marks that completely fill the circles. If you change a mark, be sure to erase the first mark
completely.

Grid 5:
1. Print the name of the school where you are now enrolled in the space at the top of the grid.

2. In the boxes marked “SCHOOL CODE,” print the six-digit code that identifies your school. Below each box, fill
in the circle that contains the same letter or number as the box. (You can find your school code on your Test
Ticket. If it is not there, tell the proctor, and the proctor will get the school code for you.)

3. If you attend a private or parochial school, fill in the circle marked “P.”

Grid 6: Complete the grid with your date of birth. Print the first three letters of the month in the first box, the
number of the day in the next box, and the year in the last box. Then fill in the corresponding circles.

Grid 7: Print your student ID number in Grid 7. You can find your student ID number on your Test Ticket. In the
boxes, print your nine-digit student ID number. Below each box, fill in the circle containing the same number as
in the box.

Grid 8: In most cases, Grid 8 is already filled in for you. If it is not, copy the letter and numbers shown in the
upper-right corner of your test booklet into the boxes. Below each box, fill in the circle containing the same letter
or number as the box.

Now review Side 1 to make sure you have completed all lines and grids correctly. Review each column to see
that the filled-in circles correspond to the letters or numbers in the boxes above them.
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GENERAL DIRECTIONS, continued

Print your test booklet letter and numbers, and your name, first name first, in the spaces provided at the top of
Side 2 of the answer sheet.

Marking Your Answers

e Mark each of your answers on the answer sheet in the row of circles matching the question number printed in
the test booklet.

e Use only a Number 2 pencil.

e If you change an answer, be sure to erase it completely.

e Be careful to avoid making any stray pencil marks on your answer sheet. Do not make any marks on your
answer sheet other than filling in your answer choices.

e FEach question has only one correct answer. If you mark more than one circle in any answer row, that question
will be scored as incorrect.

SAMPLE ANSWER MARKS

® © @ RIGHT

@ ® © O WRONG
® ¥ © ©® wrona
® © O WwroNG

® ® O wronG

e You can use your test booklet or the provided scrap paper to take notes or solve questions; however, your
answers must be recorded on the answer sheet in order to be counted.

¢ You will not be able to mark your answers on the answer sheet after time is up, and answers left in
the test booklet will not be scored.

Planning Your Time
e You have 180 minutes to complete the entire test. How you divide the time between the English
Language Arts and Mathematics sections is up to you.

e If you begin with the English Language Arts section, you may go on to the Mathematics section as soon as you
are ready. Likewise, if you begin with the Mathematics section, you may go on to the English Language Arts
section as soon as you are ready.

e Be sure to read the directions for each section carefully.
e Each question has only one correct answer. Choose the best answer for each question.
e When you finish a question, go on to the next, until you have completed the last question or run out of time.

e Your score is determined by the number of questions you answer correctly. Answer every question, even if
you may not be certain which answer is correct.

e Don't spend too much time on a difficult question. Come back to it later if you have time.

e If you complete the test before the test time (180 minutes) is over, you may go back to review questions in
either section.

e Students must stay for the entire test session (180 minutes).
DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO DO SO

@ Pearson

Copyright © 2022 Pearson. All rights
reserved. No part of this document may
be copied, reproduced, modified, or
transmitted by any means, electronic or
mechanical.
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PART 1 — ENGLISH LANGUAGE ARTS

57 QUESTIONS

REVISING/EDITING
QUESTIONS 1-16 (PART A AND PART B)

REVISING/EDITING PART A

DIRECTIONS: Read and answer the following questions. You will be asked to recognize and correct
errors so that the sentences or short paragraphs follow the conventions of standard written English.
You may write in your test booklet as needed to take notes. You should reread relevant parts of the
sentences or paragraphs, while being mindful of time, before marking the best answer for each
question.

1. Which revision corrects the error in sentence structure in the paragraph?

The land on Earth has not always been separated into the seven continents, at one time a
massive supercontinent, known as Pangaea, covered one-third of Earth’s surface.
Additionally, the supercontinent was surrounded by ocean waters called Panthalassa, much
of which were in Earth’s Southern Hemisphere. Geologists believe that the supercontinent
split apart over millions of years because of the movement of the tectonic plates that form
Earth’s crust. In fact, experts predict that over the next 250 million years the movement of
the plates will cause the seven continents to merge into a supercontinent again.

continents. At
surface; additionally,
Panthalassa. Much
crust, in fact,

cowm»

2. Read this sentence.

The Appalachian Trail is a really long trail that a lot of people do each year.

Which revision of the sentence uses the most precise language?

The Appalachian Trail is an extremely long trail that millions of people do each year.

The Appalachian Trail is a 2,200-mile trail that more than a million people hike each year.
The Appalachian Trail is a 2,200-mile trail that two million people hike each year.

. The Appalachian Trail is a lengthy trail that a couple million people do each year.

T omm
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3. What is the best way to combine these sentences to clarify the relationship between ideas?

(1) The International Space Station has been inhabited by crew members since 2000.
(2) Tourists will soon be allowed to pay for visits to the space station.

(3) Because the cost is $52-$58 million round trip, few people will be able to take
advantage of the opportunity to have a vacation in outer space.

A. The International Space Station has been inhabited by crew members since 2000, but
tourists will soon be allowed to pay for visits to the space station, which cost
$52-$58 million round trip, so few people will be able to take advantage of the opportunity
to have a vacation in outer space.

B. The International Space Station has been inhabited by crew members since 2000 and will
soon allow tourists to pay for visits, but because the cost is $52-$58 million round trip, few
people will be able to take advantage of the opportunity to have a vacation in outer space.

C. The International Space Station has been inhabited by crew members since 2000, but
tourists will soon be allowed to pay for visits to the space station, though the cost is
$52-$58 million round trip, so few people will be able to take advantage of the opportunity
to have a vacation in outer space.

D. The International Space Station has been inhabited by crew members since 2000, and
tourists will soon be allowed to pay for visits to the space station because the cost is
$52-$58 million round trip, therefore few people will be able to take advantage of the
opportunity to have a vacation in outer space.

4. Which edit should be made to correct this sentence?

In 1962 the agile athletic Wilt Chamberlain became the first and only professional basketball
player in the United States to score 100 points in a single game.

Insert a comma after agile.
Insert a comma after first.
Insert a comma after only.
Insert a comma after States.

T omm
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5. Which revision corrects the error in sentence structure in the paragraph?

In 1967 Katherine Switzer signed up for the Boston Marathon using her first and middle
initials instead of her full name, at that time, only men were permitted to officially register
and receive a number for the legendary race. Once officials realized a woman was
attempting to run in the race, they made efforts to remove her from the competition.
Switzer prevailed and finished in just over four hours, paving the way for the official rule
change that allowed for the inclusion of women. In 2017, to mark the fiftieth anniversary of
this pioneering event, a seventy-year-old Switzer repeated her run, wearing the number
261, the same number she had worn in that first run in 1967.

A. name. At

B. race. They
C. hours. Paving
D. 261. The
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REVISING/EDITING PART B

DIRECTIONS: Read each of the following two texts and answer the related questions. You will be
asked to improve the writing quality of each text and to correct errors so that the texts follow the
conventions of standard written English. You should reread relevant parts of each text, while being
mindful of time, before marking the best answer for each question.

Cracking the Code

(1) Computer code is part of every electronic interaction, from video games to home thermostats to
vehicle GPS systems. (2) Code is a language that computers can interpret, and programmers use it
to instruct computers to perform different tasks, such as finding, sorting, or calculating data.

(3) People who code have to learn this language. (4) They can construct programs that will perform
detailed tasks. (5) The programs can also perform complex tasks.

(6) A coding language uses letters, numbers, and symbols that are arranged in a way that makes
sense to a computer. (7) The code that makes up a program tells a computer how to process
information. (8) Studying a coding language involves learning the rules for combining phrases and
instructions so that they are recognizable to the computer. (9) Once a person understands coding
rules, the possibilities for applying them are infinite.

(10) Coding skills are becoming important in many occupational fields. (11) For example, code can
be used to create programs to track, analyze, and predict changes in the stock market. (12) Code
can also be designed to help doctors track and monitor a patient’s health. (13) Jobs that require
coding skills are typically higher paying, offering salaries that are up to as much as $22,000 a year
more than jobs that do not require coding knowledge.

(14) People have a variety of opportunities to learn how to code. (15) In some schools, young
people can study computer science and coding just as they study foreign languages. (16) Computer
science teachers can use websites and apps that employ games designed to help everyone
understand how code works. (17) Even high school students who do not take computer science can
learn coding by attending coding workshops and online classes or by watching tutorials online.

(18) After studying the basics of coding, some students may become interested in learning how to
create programs, such as games and apps.

(19) The late Steve Jobs, a pioneer in computer technology, once said, “Everybody in this country
should learn how to program a computer . . . because it teaches you how to think.” (20) Learning
to code can seem challenging, but one does not need to become an expert programmer to reap the
benefits of understanding this language.
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6. What is the best way to combine sentences 3 through 5 to clarify the relationship

between ideas?

People who code have to learn this language because they can construct programs that will
perform detailed and complex tasks.

People who code have to learn this language so they can construct programs that will
perform detailed or complex tasks.

. When people who code have to learn this language, it is so they can construct programs

that will perform detailed and complex tasks.

. If people who code have to learn this language, then they can construct programs that will

perform detailed as well as complex tasks.

7. Which sentence should follow sentence 5 to best state the main claim in the passage?

A.

People should take advantage of opportunities to study and learn basic coding because of its
many valuable benefits.

People should attempt to understand how code can be used to design programs that are
beneficial for a variety of industries and businesses.

. Schools should offer coding classes because knowing how to code will help students succeed

in many types of businesses.

Students should prepare for the future job market by studying code and learning how to
code programs.

8. Which revision of sentence 10 provides the best transition to the argument in the third

paragraph (sentences 10-13)?

Learning a coding language may be difficult, but coding skills are becoming important in
many occupational fields.

Learning a coding language is useful because coding skills are becoming important in many
occupational fields.

. Employers in most industries realize that people with coding skills can demand higher

salaries in many occupational fields.

. Even though programming is its own unique field, coding skills are becoming important in

many occupational fields.
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9. Which sentence would best follow sentence 13 and support the ideas in the third paragraph

(sentences 10-13)?

A. Experienced programmers, software engineers, and system administrators at large
companies can earn well over $100,000 a year.

B. Hospitals, physicians’ offices, and pharmaceutical companies are frequently looking to hire
people who code to help with a variety of tasks.

C. Many companies are eager to hire employees who have experience in a specific industry as
well as knowledge of basic coding.

D. According to a report from a job market analytics firm, almost half of today’s jobs paying
more than $58,000 a year call for some level of coding ability.

10. Which concluding sentence would best follow sentence 20 and support the argument presented

in the passage?

E. People should understand that knowing how to code is becoming an essential requirement
for most high-paying jobs.

F. By understanding basic coding concepts, people can participate in an increasingly digital
job market.

G. Students who want to secure a high-paying job in the technology industry should become
proficient in coding.

H. Since coding is a valuable marketplace skill, today’s students should begin to write their
own computer programs.
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Martial Arts for the Mind and Body

(1) The martial arts blend a series of physical movements with strategic mental discipline so that
practitioners can defend themselves, physically defeat an opponent, or both. (2) Historians are
unsure of exactly when and where martial arts were first used. (3) Martial arts have been practiced
by several different societies for many centuries. (4) Martial arts such as karate, kung fu, tae kwon
do, and judo are still taught and practiced as methods of self-defense, but they offer students more
than that. (5) The study of martial arts can provide students with a way to enhance their mental
discipline as well as their physical fitness.

(6) Discipline, focus, and respect are important qualities for everyone to have. (7) However, for
most people these qualities are not innate; they must be learned and practiced. (8) The study of
martial arts can provide an opportunity to develop these skills. (9) Students are rewarded for their
dedication by passing tests and advancing to higher ranks or levels. (10) For example, in a typical
tae kwon do class, students learn discipline by diligently practicing moves, improve focus by listening
carefully, and demonstrate respect by bowing to the instructor and following directions.

(11) For teenagers, martial arts classes provide a safe and structured environment for gaining
physical skills, building confidence, and enjoying a sense of community. (12) A lot of teens go
through hard situations as they try to do well in school and in life. (13) A martial arts class can
provide teens with a physical outlet for stress while also challenging them mentally.

(14) Participating in a martial arts program also helps children and teens focus on self-improvement
rather than on competition. (15) Progressing through levels of achievement involves mastering
more physically demanding techniques. (16) It requires students to take responsibility and be
accountable for achieving set goals. (17) Students gain confidence and experience companionship
with other students who are progressing through the ranks.

(18) Adults who practice martial arts can experience many of the same benefits that younger people
do, but perhaps the greatest of these is health and fitness. (19) Adult martial arts students often
see changes in their body within weeks of beginning a program.

(20) For people interested in studying a martial art, there are many ways to learn and practice.
(21) In addition to private studios, community recreation centers often offer low-cost or free martial
arts classes. (22) There are even online videos that introduce students to the basic concepts.

(23) People should study martial arts.

11. What is the best way to combine sentences 2 and 37

A. Historians, who are unsure of exactly when and where martial arts were first used, know
that martial arts have been practiced by several different societies for many centuries.

B. While historians are unsure of exactly when and where martial arts were first used, they do
know that martial arts have been practiced by several different societies for many centuries.

C. Because historians know that martial arts have been practiced by several different societies
for many centuries, they are unsure of exactly when and where martial arts were first used.

D. Martial arts have been practiced by several different societies for many centuries, and
historians are unsure of exactly when and where martial arts were first used.
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12. Where should sentence 10 be moved to improve the organization of the second paragraph
(sentences 6-10)?

E. to the beginning of the paragraph (before sentence 6)
F. between sentences 6 and 7
G. between sentences 7 and 8
H. between sentences 8 and 9

13. Which revision of sentence 12 best maintains the formal style established in the passage?

A. A lot of teens have to put up with difficult things while trying to do well in school and in life.

B. Many teenagers deal with tough situations as they try to stay on top of their studies and do
well in life.

C. Many teenagers encounter challenges as they work to succeed both academically
and personally.

D. A lot of teens face problems as they work to keep up with their schoolwork and find
personal success.

14. Which transitional phrase should be added to the beginning of sentence 177

Over time,
In fact,
Even so,

T omm

For instance,
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15. Which sentence would best follow and support sentence 18?

A. Adult students gain discipline, focus, self-control, and respect, which are qualities that help
them advance in their careers.

B. Many adults initially train in a martial art simply to get exercise without realizing that the
training also helps develop other skills.

C. The exercise involved in training helps people strengthen their heart, boost endurance,
improve balance, and develop muscle tone.

D. People who commit to training in the martial arts are usually concerned about improving
their overall physical health.

16. Which concluding sentence should replace sentence 23 to best support the topic presented in

the passage?

E. With so many ways to begin studying martial arts, people can easily discover how the skills
needed to progress in rank may help them in life.

F. By taking advantage of opportunities to practice martial arts, people can experience the
satisfaction of achieving goals while also improving themselves.

G. Because people are eager to reap the mental and physical benefits of studying martial arts,
enrollment in martial arts courses has increased.

H. While taking martial arts classes can improve health for both young people and adults, the
effects are clearly more immediate for adults.
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READING COMPREHENSION
QUESTIONS 17-57

DIRECTIONS: Read each of the following six texts, and answer the related questions. You may write
in your test booklet as needed to take notes. You should reread relevant parts of each text, while
being mindful of time, before marking the best answer for each question. Base your answers only on
the content within the text.
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Excerpt from “Scribe Like an Egyptian”
by Hilary Wilson

1 In ancient Egypt, literacy was the key to success. However, contrary to popular belief, not all
Egyptian scribes understood hieroglyphs. Many relied instead on the simpler hieratic script for the
multitude of everyday documents generated by the Egyptian bureaucracy.!

2 Hieroglyphs—"the Words of God”—compose a writing system with more than 1,000 distinct
characters, the meanings of which were lost for 1,500 years before they were deciphered by
Jean-Frangois Champollion in 1822. Including both ideograms (which convey a whole word or
idea, either concrete or abstract, in a single sign) and phonograms (representing either an
alphabetic sound or a group of consonants), [the writing system] was used in formal inscriptions
on tomb and temple walls as well as on elaborate funerary papyri.2 For everyday purposes,
however, scribes used a shorthand version of the hieroglyphic script known as hieratic, which was
quicker to write and more economical of space. The two writings existed side by side for at least
2,500 years.

3 Scraps of ancient hieratic writing, mostly penned by student scribes on limestone flakes called
ostraca, suggest that no matter how humble his origins, an educated Egyptian could achieve
almost anything. Horemheb (d.1292 B.c.) is a good example. Born of middle-ranking parents, his
scribal training led to an army career. From Scribe of Recruits, during the reign of Akhenaten
(1353-1336 B.C.), Horemheb rose through the military ranks and, by the rule of Tutankhamun
(1332-1323 B.C.), he was commander in chief of the Egyptian forces. As a close adviser of the
young Pharaoh, Horemheb was appointed “Deputy of the King throughout the Two Lands,” and
might have expected to succeed to the throne should the king die childless. He had to wait a few
years, but eventually Horemheb achieved the pinnacle of his career by becoming the last king of
the 18th Dynasty, making his mark by instituting dramatic reforms to the organisation of the
army, the judiciary and administration in general. The lasting success of these changes owed
much to his scribal background. . . .

4 But education was not available to all. Government departments and major temples supported
schools, where boys commenced their training at six or seven, sometimes earlier. To these
boarding establishments . . . family or household servants delivered the students’ food and drink
rations daily for several years, during which time the student was not contributing to the family’s
income. Boys from poorer families could only hope to be educated with support from a wealthier
relative or patron, or through apprenticeship to an older scribe, perhaps the local clerk or land
agent, who would teach them the basics of the scribe’s craft. This limited the scope for
employment but such “on the job” training allowed apprentices to help out at home while
learning. . . .

5 Scribal education began with the elementary principles of the hieratic script. The lowliest scribes,
who trained for just five or six years, probably learned only the rudiments3 of the hieroglyphic

lbureaucracy: an administrative staff of government officials

2funerary papyri: a sheet or scroll of papyrus containing religious images and hieroglyphs
meant to help the deceased be reborn in the afterlife

3rudiments: basics
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script. Students were set exemplar documents and extracts from popular texts to copy, to
practice their hieratic handwriting on basic-format letters, reports and contracts, while absorbing
the good advice contained in the texts. Surviving examples of copy-work sometimes include
tutors’ corrections added in red. Some significant Egyptian literary works survive almost
exclusively from student copies.

6 A schoolboy? “dictionary” of hieroglyphs with their hieratic equivalents shows that a knowledge of
more than 450 signs was required for everyday writing purposes. Lessons in record-keeping and
filing and labelling enabled any half-competent scribe to perform that most essential of all scribal
functions: the making and updating of lists. For professions such as those of government official,
priest or lawyer, a scribe would train for several more years, increasing his vocabulary to perhaps
a thousand or more signs. Those with the best handwriting or drawing skills might follow the craft
of creating beautifully illustrated copies of funerary texts, commonly called Books of the Dead.
Others could become draughtsmen?®, artists or architects. Doctors compiled their own collections
of medication recipes, treatments and associated incantations, many copied from texts found in
the House of Life, the temple library. Lawyers had to be familiar with the corpus® of civil and
religious laws and precedents found in the official records, which were administered by archivists.
Egypt’s bureaucratic society depended on the skills of an army of scribes of all ranks from filing
clerk to tax assessor. For young Egyptians, “be a scribe” was the best of career advice.

From “Scribe Like an Egyptian” by Hilary Wilson from HISTORY TODAY, August 8, 2019. Copyright © 2019
by History Today Ltd. Company.

4schoolboy: slang that refers to materials used during the course of receiving an education
S5draughtsmen: a person who draws plans of machinery or structures

6corpus: a collection of writings
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ANCIENT EGYPTIAN
SOCIAL CLASS STRUCTURE

Pharaoh
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17. Which sentence from the excerpt best supports the idea that there were different levels of

education for a scribe?

A. “However, contrary to popular belief, not all Egyptian scribes understood hieroglyphs.”
(paragraph 1)

B. “For everyday purposes, however, scribes used a shorthand version of the hieroglyphic
script known as hieratic, which was quicker to write and more economical of space.”
(paragraph 2)

C. “This limited the scope for employment but such ‘on the job’ training allowed apprentices to
help out at home while learning.” (paragraph 4)

D. “For professions such as those of government official, priest or lawy